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BN If we continue to .................... the countryside, many more animals will die out in the near future.

1) protect 2) hunt 3) destroy 4) increase

3 Every three seconds, an area the size of a football field is cut down in that South American .................... .

1) forest 2) nature 3) plain 4) wildlife
[E) Many women and children in the north of Sudan spend a large part of their day finding enough water to keep
themselves and their animals .................. .
1) natural 2) careful 3) alive 4) helpful
3 The children were very loud during the movie, so I couldn’t always .................... what was happening in the story.
1) put 2) hear 3) take 4) make
B She was thinking of buying a used car, but her father asked her to buy a new car .................... .
1) never 2) over 3) before 4) instead
3 Any changes we make to our environment .................... the natural balance of the ecosystem.
1) injure 2) relate 3) connect 4) endanger
At first, she worked just a few hours a week, and then ............... the amount of working time at her job.
1) protected 2) reclaimed 3) increased 4) exchanged
) A painting by Vincent van Gogh was .................... sold for $35 million in an auction in England.
1) deeply 2) recently 3) heavily 4) verily
[E) She teaches relaxation techniques to help patients deal with the .................... of their illness.
1) hope 2) life 3) pain 4) care
Don’t be late for the 4:00 meeting because I’m on a full and tight .................. ,and I have to leave by 4:30 at the latest.
1) schedule 2) attention 3) interest 4) future
ET) Her daughter was attacked and seriously .................... by their neighbor’s dog.
1) destroyed 2) endangered 3) died out 4) injured
%) Our company is .................... a lot of money, so something has to be done, or we will be in serious trouble soon.
1) holding 2) making 3) losing 4) getting
This is the age of ................... , and computers are playing a very important role in our everyday lives.
1) information 2) expression 3) reception 4) organization
E7) Before going anywhere in your car, you should always check the vehicle to make sure that itis .................. to drive.
1) natural 2) safe 3) clear 4) positive

Vocabulary 10| e1 Juas
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ET The giant panda, found in the wild in southwest China, is one of the world’s most .................... species and should be protected.

1) decreased 2) endangered 3) possible 4) powerful
ET Over forty people have lost their homes following a fire which .................. an entire apartment building.
1) endangered 2) placed 3) collected 4) destroyed
Almost 120 flights were canceled into and out of Toronto .................... Airport, and 160 others were delayed.
1) International 2) Hospitable 3) Attractive 4) Cultural
ET) I think a certain amount of worry about work is very ................. , but you’ve got to keep it under control.
1) dangerous 2) increasing 3) natural 4) protective
[ 10 | coming directly home, I took the long way and stopped by the post office.
1) Instead of 2) Besides 3) Next to 4) Opposite of
D) There are thousands of animals and plants .................... today that are no different from the way they appear in fossil
records.
1) regular 2) actual 3) alive 4y natural
When we are young we are ................... influenced by those around us — not simply by what they do but by their

attitudes and beliefs.
1) verily 2) rarely 3) greatly 4) nearly
B2} 1t’s been more than fifteen years since Bam became the focus of the world’s attention when an earthquake ...................

buildings all over the city and left thousands of people dead.

1) compiled 2) destroyed 3) involved 4) suffered
2] A wild animal that looks like a horse with black or brown and white lines on its body is called a / an ................... .
1) leopard 2) goat 3) zebra 4) elephant
EZ) Daniel had a lot on his mind, so he wasn’t ................... enough attention to his driving.
1) making 2) taking 3) doing 4) paying
B3 1 really don’t expect any change in the near .................... — you need to wait much longer.
1) future 2) nature 3) plan 4) example
EZ More than half of the books in the library were .................... by the fire last night.
1) increased 2) installed 3) destroyed 4) protected
i B
69;21? Wonders of Creation Vocab 2 o 2 wlsw
Most people today .................... many different electronic devices with them, each with its own keypad, speaker,
display, processing unit, and power supply.
1) identify 2) collect 3) carry 4) place
EX) 1 will not accept this kind of behavior any longer. Do I make myself .................... ?
1) clear 2) correct 3) common 4) natural
EZ) After winning $54,000 as part of the Nobel Peace Prize, Martin Luther King .................... the money to support civil

rights in the United States.
1) created 2) increased 3) placed 4) donated
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ED) She lacks any experience in public speaking —a ................... that becomes clear when she appears in public.
1) case 2) fact 3) type 4) sign
Getting enough sleep each night is one of the easiest and most effective ways of improving your .................... life.
1) final 2) daily 3) simple 4) alive
EZ) Red blood cells carry oxygen around the body for respiration to take place while white blood cells ................... the

body from infections and viruses.

1) collect 2) increase 3) defend 4) destroy
EE) Doctors say the disease is .................... — mostly to the elderly or those who are already seriously ill.
1) dangerous 2) productive 3) endangered 4) powerful
EZ) Their prices are very good, but unfortunately the .................... of their products is very low.
1) fact 2) number 3) quality 4) example
ED The space shuttle goes into ................... like a rocket and returns to earth like an aircraft.
1) system 2) orbit 3) vision 4) nature
E® The weather was .................. in the morning, but it got sunnier and sunnier throughout the day, and by late

afternoon it was beautiful outside.

1) cloudy 2) natural 3) powerful 4y wonderful

They lived .................... for several years but moved back to Iran when the children were at school age.
1) beyond 2) over 3) on board 4) abroad

ED The human .................... can go more than 40 days without something to eat, but only four to five days without water.
1) cell 2) organ 3) body 4) nature

ED) The philosopher Voltaire once said, “I disapprove of what you say, but T will ................. your right to the death to
say it.”
1) attempt 2) regard 3) prevent 4) defend

7)) The second part of the rocket carries the fuel which provides the energy needed to get the rocket out of the Earth’s

1) orbit 2) space 3) pressure 4) power

We didn’t want to .................... too much because it would have been crazy to lose the ball and let the other team

score a goal.

1) attack 2) practice 3) exchange 4) carry
EAAAD ... lifestyle and regular exercise will strengthen the immune system and help prevent serious diseases.
1) mental 2) additional 3) physical 4) healthy
5} Some stars look as tiny as pinheads, but they are in ................. even bigger than the sun.
1) fact 2) case 3) wonder 4) detail
73 The drug increases the number of red .................... in the blood, enhancing oxygen intake by 10 percent.
1) facts 2) cells 3) types 4) liquids
33 I’ get a taxi from the station to save you the trouble of coming to ................... me.
1) collect 2) defend 3) protect 4) carry
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I The sky is .................... and the wind is refreshingly cool. It’s a perfect day to spend outdoors.

1) near 2) clear 3) natural 4) deep
You really have to use your .................... if you want to solve this puzzle — it’s very difficult.
1) fact 2) hope 3) brain 4) idea
5] Egypt is an ancient country that was a source of mystery and .................... for hundreds of years.
1) orbit 2) health 3) heaven 4) wonder
%) Her daughter was .................... and seriously injured by their neighbor’s dog — she’s at the hospital now.
1) attacked 2) defended 3) endangered 4) destroyed
[E) What we call the flu is actually a number of different .................... , each one slightly different from the other.
1) cells 2) wonders 3) viruses 4) drops
The right of children to play improves their .................... physical and psychological development and builds stronger
communities.
1) advanced 2) available 3) energetic 4) healthy
il B
9-.:&1“?" The Value of Knowledge Vocab 3 oy 3 ilSus
[ 52 I T3 research in physics and translated Newton’s theories into French, which helped his ideas gain
acceptance in France.
1) did 2) made 3) had 4) got
5 Your tests came back from the medical .................... about an hour ago, and the results were negative.
1) experiment 2) comparison 3) observatory 4) laboratory
3 He runs his own little furniture factory, where he ................... high quality chairs, tables and desks, using the finest
materials available.
1) holds 2) raises 3) builds 4) takes
3 She couldn’t deal with all the noise of working in the factory, so she ................... her job.
1) grew 2) quit 3) stuck 4) held
E3 My father was a/an .................. studying the virus, and when Diana got it he dedicated his life to finding a cure.
1) thinker 2) scientist 3) inventor 4) observer

If you get an infection, we’ll have to put you on antibiotics immediately because your body’s immune system is

.................... right now.
1) hard 2) tiny 3) weak 4) grave
5 Doctors have discovered a new treatment for diabetes, but they are still doing .................... on its effectiveness.
1) medicines 2) experiments 3) inventions 4) questions
5 Karen Horney once said that there is no good reason why we should not .................... and change until the last day
we live.
1) increase 2) give up 3) pick up 4) develop
) Heis a very .................... badminton player in Malaysia, but here in Iran no one has any idea who he is.
1) hopeful 2) emphatic 3) famous 4) national

NOTE
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E¥ED Titan is probably ................... in the solar system to look for life. It is rich in organic molecules but very cold and
has no liquid water.
1) the place more interesting 2) as interesting as a place
3) the most interesting place 4) the place most interesting
E¥F) The negative effects of watching too much television are .................... what you probably think.
1) worse than 2) the worst
3) as worst 4) the worse
Ever since the use of natural gas became widespread, London isn’t .................... it was ten years ago.
1) as polluted as city 2) so polluted as cities
3) as a polluted city as 4) so polluted a city as
ES) My grandmother lives in the .................... house on the corner.
1) little old green and white 2) old little green and white
3) little green and old white 4) old green little and white
BT I finished the exercise in five minutes. It was .................... homework the teacher has ever given us.
1) easier than 2) as easy as
3) the easiest 4) easy
EXT3 I’m going to wear my ................... dress to the wedding. What are you going to wear?
1) cotton blue beautiful 2) beautiful blue cotton
3) cotton beautiful blue 4) beautiful cotton blue
Your blue dress is .................... the one you’ve got on, Mary; why don’t you change?
1) much worse than 2) the best of
3) much nicer than 4) as better as
I felt tired last night, so I went to bed .................... .
1) as early as usual 2) earlier than usual
3) the earliest usual 4) more early usual

EXT) There are many, many planets in the Milky Way which are ................... .
1) just Jupiter as big 2) only as bigger as Jupiter
3) just as big as Jupiter 4) only the biggest Jupiter

Grammar:adjectives | o4 Juad
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E?T) The Apollo project was ....................
program in history.
1) more expensive

3) the most expensive

space program. It cost 25,541,400,000 dollars — more than any other space

2) as expensive as

4) the least expensive

o b dpo padtlin g o

My mother has a soft voice, but my teacher’s voice is ................... my mother’s.

1) as even soft as

3) softer even than

EP?) Take a look at my cell phone. It s ...

1) as cheap as / much happier than

3) cheaper than / much happiest

2) even softer than

4) the softest even

................ my last phone, and ’'m .................... with it.

2) much cheaper than / much happier

4) as cheaply as / happier

EPE] He sat behind a .................... desk and did his homework.

1) big brown neat wooden

3) big neat wooden brown

2) neat big brown wooden

4) neat brown big wooden

3) E?Z3 1 broke my nose in a football game yesterday. Today it’s very painful. For the same reason, today the pain is
L it was yesterday.

é 1) much worse than 2) as worse as

:% 3) the worst 4) many worse than

g' EP3 Reza is .....ccoooeee..... student in the class. This means that he was born later than everyone else.

é 1) as younger 2) the younger

g 3) the youngest 4) younger than

TN
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E?13 She speaks English very well, but her brother speaks it even .................... her.

1) more well than

3) as better than

I thought this test would be difficult,

1) the easiest

3) easier than

2) best
4) better than

butit’s .................... test I’ve ever taken.
2) as easy as

4) more easy than

E?Z) The Amazon is .................. the Nile, making it ................. river in the world.

1) longer than / longer

3) as long as / longer than

2) as long as / the longest

4) longer than / the longest

EPX) Have you visited the old castle? It was .................... castle we visited during our holidays.

1) most beautiful

3) more beautiful

2) more beautiful than

4) the most beautiful

NOTE



EER) My new oven works alot .................. my old oven. It heats up much faster.

1) as well as 2) the best
3) more well than 4) better than
i B
. . q . G
11 it i ey 13, 20
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The Apollo project was run .................... . It cost more than 25 billion dollars; more than any other project. (.% =
1) more expensive 2) expensively %
3) the more expensive 4) the most expensive
EEZ) His DVD player was .................... mine. We paid the same price.
1) as cheap as 2) cheaper than
3) as cheap than 4) the cheapest
EEE) The speed of an airplane is far ................. that of a helicopter.
1) as great as 2) the greatest
3) greater than 4) greatest than
EEZ) Many people believe that Albert Einstein’s theory of relativity is .................... formula in the world.
1) as famous as 2) more famous than 3)
3) the famous 4) the most famous <
o
EED You’d better get up .................... tomorrow, or you’ll be late again. -
(&)
1) earliest 2) earlier E
Q
3) as early as 4) earlier than '%)’
S
EEA Today, English is the third .................... worldwide after Chinese and Hindi, with some 380 million speakers. 55'
. . g
1) most spoken native language 2) more spoken language native =
. . IS
3) language most spoken native 4) native language most spoken 5

A: “A lot of people have read the book, you know.”

B: “Yes, that’s true — but even .................... have seen its film.”
1) more than people 2) more people than
3) more people 4) most people
EET) The store has a great sale today. Most laptops are sold at least 25% .................... they were yesterday.
1) as cheap as 2) the cheapest
3) cheaper than 4) more cheaply than
EEE) The negative effects of watching too much television are .................... they appear to be at first glance. A
1) a lot more complicated than 2) the most complicated than g
3) even the most complicated 4) much more complicated of

ETT) After watching the documentary on global warming, we all felt a bit .................... .
1) depressing 2) depress
3) depressingly 4) depressed
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More than two million years ago, stone was the most valuable raw material known to people. They made stone tools
and Weapons, usually from flint. These early people were called hominins, and were more apelike than modern humans.

They ...... €4 ...... learned to make specialized implements, such as knife blades. Stone Age people moved constantly,
...... E77) ...... hunting areas and setting up camps in small groups. A few groups lived in caves during the coldest seasons.
They gathered fruits, berries, and roots, and hunted wild animals. By the start of the Mesolithic Age (Middle Stone Age;
15,000 years ago) many types of larger animals ...... &9 ... . Mesolithic people, ...... en... were “modern people”
(Homo sapiens) like us, used new stone-edged tools to fish and hunt deer and wild pigs. About 10,000 years ago some

Neolithic (New Stone) Age people learned how ...... g3... . They settled on farms.

1) absolutely 2) heavily 3) differently 4) gradually
8 1) looking up 2) looking for 3) checking in 4) checking up
78 1) had died out 2) are dying out 3) were died out 4) have died out
7 1) who 2) whose 3) which 4y whom
8 1) domesticate animals and growing crop 2) domesticate animals and grow crops

3) to domesticate animals and growing crop 4) to domesticate animals and grow crops

Pass gel

Disposing of waste has been a problem since humans started producing it. As more and more people choose to live close
together in cities, the waste-disposal problem becomes increasingly difficult. During the eighteenth century, it was usual
for several neighboring towns to get together to select a faraway spot as a dump site. Residents or trash haulers would
transport household rubbish, rotted wood, and old possessions to the site. Periodically, some of the trash was burned
and the rest was buried. The unpleasant sights and smells caused no problem because nobody lived close by. Factories,
mills, and other industrial sites also had waste to be disposed of. Those located on rivers often just dumped the unwanted
remains into the water. Others built huge burners with chimneys to deal with the problem.

Several facts make these choices unacceptable to modern society. The first problem is that landfills are most needed
in heavily populated areas. Such areas rarely have empty land suitable for this purpose. Property is either too expensive

or too close to residential neighborhoods. Long-distance trash hauling has been a common practice, but most farm areas
refuse to accept rubbish from elsewhere, so cheap land within trucking distance of major city areas is almost nonexistent.
Awareness of pollution dangers has resulted in stricter rules of waste disposal. Pollution of rivers, ground water, land

and air is a price people can no longer pay to get rid of waste. The amount of waste, however, continues to grow.
Recycling efforts have become commonplace, and many towns require their people to participate. Even the most
efficient recycling programs, however, can hope to deal with only about 50 percent of a city’s reusable waste.

NOTE



EIT The best title for this passage would be .................... .

1) Suitable Places to Dispose of Waste 2) Waste Pollution Dangers

3) Waste Disposal During the 18t Century 4) Waste Disposal Problem
The word “Periodically” in the first paragraph is closest in meaning to .................... .

1) at regular times 2) hardly ever

3) almost every day 4) not very commonly

EZT) During the 18th century, people disposed of their waste in all of the following ways EXCEPT by ................... .
1) burying 2) recycling
3) burning 4) dumping in rivers
%) The author’s main purpose in writing this passage is to ................... .
1) draw people’s attention to the waste disposal issue
2) warn people of the pollution dangers we are facing
3) call on people to take part in recycling programs

4) introduce a better way to get rid of our waste

Pass ge2

Smoking has become unfashionable in most Western countries over the past decade or more, yet its incidence
remains high. Even legislation against smoking in a shared workspace and banning it on public transport has had
limited success, when measured by a decline in the percentage of people still addicted to smoking. In these countries,
the highest rates of smoking tend to be found among people in the 20-29 age group, teenage girls, and working-class
groups. Smokers tend to be well-informed about illnesses related to their habit, such as lung cancer and heart disease.
Despite this knowledge, current smokers tend to underestimate the risk of dying from smoking when compared with
former smokers and those who have never smoked.

Anti-smoking campaigns have used a wide variety of media and techniques to discourage smoking. For example, one
campaign adopted a television commercial and poster, while another used a direct-mail approach, along with radio
advertisements. Various celebrities have helped by performing at places of work and by recording verbal messages.
There have been different target groups. One campaign aimed to reach women, who outnumber men in the under-18
smokers group, stressing the benefits of not smoking with respect to health, beauty and fitness. Another used baby
stickers. Another campaign highlighted the benefits of a smoke-free workplace and was conducted in major clothing
chain stores, supplemented by radio and television advertisements. There is a socially supportive context nowadays to
quit, and the recognition that passive smoking is dangerous may help some in the future to quit permanently.
=) It is pointed out in the passage that today the social environment .................... .

1) is the main reason why so many young people smoke
2) is not taken into account in combating smoking
3) gives a great deal of encouragement to smokers to give up smoking

4) is focused more than ever before on the 20-29 age group

I
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) According to the passage, although everyone knows that smoking is harmful to health, ................... .
1) it is generally recognized that it does not kill people
2) governments have rarely taken any action against it
3) smokers usually ignore the dangers
4) non-smokers get irritated by anti-smoking campaigns
(5] The author points out that although in most Western countries legal measures have been introduced against smoking,
1) the results have not been as satisfying as expected
2) teenage girls in particular violate these regulations
3) a really smoke-free workplace is hard to find
4) the media have not extended any support for these measures
EEF) 1t is clear from the passage that efforts to stop people from smoking ................... .
1) concentrate on the dangers of passive smoking
2) have been confined to media advertisements
3) have largely focused upon women

4) have been extremely varied and directed at different segments of society
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Every two years, the world’s best athletes compete in the Summer or Winter Olympics. More than 10,000 athletes from
around 200 nations take part...... &..... the Summer Olympics, in more than 25 sports. The Winter Games are smaller,
with 2,000 athletes from about 80 countries competing in seven sports. The inspiration for today’s Olympics came from
Ancient Greek games of more than 2,000 years ago. The modern Olympics began in Athens, Greece, in 1896. Individual

excellenceand team......[33...... are the theme of the Olympic Games, not competition...... 553 ...... nations. The International

Instead, individuals and teams compete for gold (first place), silver (second), and bronze (third) medals — as well as for

the glory of taking part.

BA1) on 2) at 3) in 4y of
BB 1) requirement 2) arrangement 3) experiment 4) achievement
1) along 2) against 3) between 4) inside
1) host a game 2) to host the games 3) hosts the game 4) it hosts the games
B 1) but there are no prize money 2) so there is no prize money
3) or there is a money prize 4) and there is no prize money

Pass gel

One of the most famous books in Italian history is a beautiful long poem, the Divine Comedy. An Italian writer
named Dante Alighieri penned it. The poem’s main theme is life after death. Dante himself is the main character. The
book is a perfect example of the transition from the Middle Ages to the Renaissance.

Like many works that came before it, the Divine Comedy is about religion. However, it was written in Italian, not Latin.

NOTE
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[ The flood of young women to this sale, which was organized a few weeks before end of the year festivities, ....................

their love for luxury goods.

1) shows 2) is shown 3) it shows 4) to show
) My father returned to the lovely island where he ................... all his childhood already.
1) had lived 2) has lived 3) must have lived 4) was going to live
) The employees ............... to the manager as soon as they occurred realized that they were more easily and quickly solved.
1) reported the problems 2) who reported the problems
3) that the problems they reported 4) whom the problems reported
() Not only T am getting late, but I also .................... what to buy for everyone so far.
1) haven’t decided 2) hadn’t decided 3) didn’t decide 4) won’t decide
(7] Leslie was ready for her first year of college, but wasn’t sure she could .................... being away from her mother

for so long.

1) bear 2) bother 3) insist on 4) depend on

[Z) Children played a game at the birthday party where they had to follow some-.................... to find little presents for each guest.
1) experiments 2) guides 3) gestures 4) clues

[FZ3 Richard Bach wrote that what links your true family is not one of blood, butof ..................... and joy in each other’s life.
1) pattern 2) presentation 3) respect 4) expression

[ We enter into conversation, of course, ready to listen to others, but we also have the ................. of being heard and
considered.
1) addition 2) connection 3) expectation 4) combination

@3 She was .................... good at covering emotions she didn’t want to show, but he read them all and threw them back

in her face.

1) carefully 2) seriously 3) normally 4) wisely

) Because of my illness I am sure that my doctor would .................... me to eat sugar for at least a couple of weeks.
1) remove 2) refuse 3) ignore 4) forbid

() Jamie has been in a .................... state of pain ever since he was injured in a car accident.
1) constant 2) common 3) direct 4) human

NOTE
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(%) Humans are born with 300 bones in their body; however when a person reaches adulthood they only have 206 bones.

This occurs because many of them ................... together to make a single bone.
1) join 2) carry 3) cause 4) involve
cl 1@
Alot of students are not ...... &0 ...... aware of the initial difficulties of living in a new country. When you live in a foreign

country, you do not spend your time in cafes or looking at the artistic or natural heritage. You have to make friends.

...... the simplest tasks -post a letter, make a bank transfer, get a work permit, pay a bill etc. It can ...... (Z£] ...... at
times, especially when you have to ...... (3] ...... yourself in the simplest terms as you haven’t yet learned the language.
1) actively 2) briefly 3) previously 4) truly
1) you do that 2) that to do 3) to do that 4) by doing that

1) as 2) even 3) very 4) although
1) disturb 2) be disturbing 3) be disturbed 4) have disturbed
1) keep 2) follow 3) produce 4) express

PﬂSS gel

When we are learning a foreign language, we tend to think that it is important to understand everything that we hear.
But when you are listening to someone talking in your own language, you probably don’t listen at 100% and nor do
you probably need/wish to.

Thus, an essential rule for improving your understanding of native English speakers is not to expect to understand
everything they say. My wife and I are both from Tokyo in Japan. When we watch DVDs of English television series,
we watch with subtitles — if we don’t have subtitles, we sometimes miss about 20% of what is said. However, even if we
don’t turn on the subtitles and thus miss 20%, we still understand enough to follow the story.

Understanding enough to follow the plot should be your objective too. By “plot,” I mean a conversation in a restaurant,

a formal presentation, a telephone call.

In non-strictly technical or scientific encounters, conversations are often more a means of being together, a socio-cultural
event in which relations are established, rather than an opportunity for exchanging information. Most of the time, what
is said may be completely irrelevant. Quite often talking is merely an end in itself. When we go out for dinner with

friends, the main object is not to collect useful information but simply to interact with the people we are with and to

enjoy each other’s company.

(55 Why does the author refer to the experience of talking in the mother tongue (paragraph 1)?
1) To prove that learning a new language is not easy
2) To show that our knowledge of our native language is perfect
3) To support the main point mentioned in an earlier statement in the same paragraph
4) To state that the mental effort you make to understand when others are talking to you is more than the mental

effort you make when you yourself are talking.

NOTE



(Z7 According to paragraph 2, when one is watching a film in a foreign language................ .

1) subtitles are to be used if one is expected to be able to follow the line of the story perfectly enough

2) one can understand and enjoy the story even if one does not understand everything that the film characters say
3) one is very likely to miss 20 percent of the content of the film even if one is watching the film with subtitles

4) it is enough for one to understand 20 percent of what the characters in a film say in order to understand the

B

general points in the film

L

ol

[ZZ) In which paragraph has the author used exemplification to make herself better understood? @) @
1) Only paragraph 1 2) Only paragraph 2 Z %
3) Only paragraph 4 4) Both paragraph 2 and paragraph 4

(Z7) What makes the focus of paragraph 4 different from the focus of the first three paragraphs is that this paragraph
is concerned more with the role of language in ............... .
1) bringing people together 2) research-related activities

3) enhancing scientific achievements 4) cultural development in the world

PHSS ge2

Human-related environmental issues are not new. The problem of deforestation, desertification, water
pollution, climate change and the extinction of species have been present throughout the history of the Earth. However,
with today’s advanced science and technology, people can do greater damages to nature and do E more quickly. The
impacts are further compounded. On the other hand, due to population growth, humans are encouraged more than ever
to use natural resources to meet the needs of the increasing population, although they know what they are doing is not
without environmental consequences. But most of all, the effect of human-created environmental modifications are no
longer limited to a local or regional level, but are extending through the whole planet.

The cause ofenvironmentaldamageis deeply rooted in human culture. Through hundreds of years ofindustrialization

and exploitation of natural resources, humans are acting on the assumption that we are the best species on earth. Because of
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our cleverness, science and power and materialism we have lost our respect for nature, which would definitely result in our
own destruction in the long term. In a world in which materialistic standards are in control, people are made to inefficiently
use more natural resources, since personal wealth is becoming the ultimate measure of success in the eye of society.

(ZE) All of the following are mentioned as factors leading to more man-related damage to the environment EXCEPT

1) extinction of animals and plants 2) more advanced technology
3) growing human population 4) part of human culture

[0 The word “it” in paragraph 1 refers to .............. .
1) Earth 2) nature
3) technology 4) damage to nature 3’
[ZZ) It CANNOT be understood from the passage that if humans manage to be less materialistic, they would................. . 3

1) prevent their long-term destruction
2) begin to show more respect for nature

3) make more reasonable use of natural resources

NOTE
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